
Biodegradation rate calculations

ThOD of (PASP) = (44.99/ Mr) (C + 0.25 H+0.33N – 0.5 O)                                                               

= (44.99/13200)(4+0.25 *5+0.33 *2-0.5*3)= 0.015 g O2/g polymer = 945 mg O2

ThOD (PASP-SEA) = (76.99/ Mr) ( C + 0.25 H + 0.33N + 0.5 S – 0.5 O)   

= (76.99/18480) (10 +0.25*13 + 0.33 *3 + 0.5*1-0.5 *8) = 0.045 O2/g polymer = 2835 mg 

O2 

 

Biodegradability % =                                         

𝐵𝑂𝐷(𝑠𝑎𝑚𝑝𝑙𝑒) – 𝐵𝑂𝐷(𝑏𝑙𝑎𝑛𝑘) 
𝑇ℎ𝑂𝐷 

∗ 100

For PASP, the Biodegradability % = 920- 0.5/ 945 = 97 % 

For PASP-SEA, the Biodegradability %   = 2784 – 1/2835 = 98%   
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